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(1) BHFILES
FEA P PETE A 1 0 0 1
FEE & PETE A 29 0 1 30
L= JPN 605, 175 32, 926 0 638, 101
LEIEA NN 5, 465 0 1,893 7, 358
E=EER AN 1,965 0 0 1,965
HME A 2,005 0 50 2,055
RS F 614, 640 32,926 1, 944 649, 510
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HER 611, 387 32, 926 644, 313
TR R 63, 702 0 63, 702
Wk 134, 862 20, 060 154, 922
T 54, 199 4,918 59, 117
& 60, 036 0 60, 036
TR A 2 37, 390 4,246 41, 636
IRk 4 8,785 0 8,785
iR E A 1w 3,193 0 3,193
By 447 0 447
TRGEIFE 2 717 0 717
RERE 1,103 22 1,125
VHFE M2 19, 785 220 20, 005
PREHE 6, 657 0 6, 657
R 40 0 40
FIRI A 5,191 28 5,219
SEIK 5, 757 400 6,157
= HEA B 31, 565 0 31, 565
ERERY 34,933 55 34, 988
1 5,321 20 5, 341
FHCE 1,191 39 1,230
PRBE: 2,918 0 2,918
o R R B A 26, 331 0 26, 331
] 5t 244 11 255
BB AT B B A AT 4 2,077 0 2,077
ZERek 25, 229 0 25, 229
NYE 1,475 0 1,475
ITEE 550 0 550
METY 221 23 244
SRR 200 0 200
TR 40, 248 2, 884 43,132
TRl & 2 37,020 0 37,020
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TR R 180 180
& BRI 700 700
ek 2, 441 2, 441
T 924 924
T JE A 2 377 377
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By 69 69
RERE 60 60
VHFE M2 50 50
PRABL Y 5 5
R 11 11
FIRI A 11 11
SeEUKE 58 58
(32 7 7
1 12 12
FHCE 5 5
PRBRE: 30 30
i B X BB 46 46
BIEE 5 5
A A R A 4 17 17
NiRE 21 21
DAmAE A2 80 80
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R S AR 3T 0 0 0 0

(2) BENEH
R S I E 0 0 0 0
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4 — R TE R U E AR 3,253 0 A 3,253 0
— W TE R P A 945, 741
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P& IE BRI PE IR D
— IR FE~ DR 0 0

04 1 0 1 R B R e 0 0

FRE EBRM PEH B 7R 0 0

FRE IEBRM PEHI R 75 W 0 0

IEBR M PERIR IR = 945, 741




G E N PR HRE D RIAHIZDOUNT

SFI6FEAH 1 EOSTTHESH31IHET

1) BEFED RIAIRITHONT
LA IZBITAEAND T EIZHVEE A,

EANDTIE Ol &» 09 b | 7L
FEES (LW ol

(2) EFHE D FIAFITONT

R D T v O |7 L
HEERS R E DN FHOT ERE
A1 NYT B T — 240,000 4
A1 H5—7Y 2 (23) 1,230,000 9
A1 MR 940,000 4
A1 I =g A= — (W) 500,000 4
A1 LB G Yk 400,000 4
A1 sy AT LR REZS B 4% 2,000,000 9
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